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Bem—Suc;iUmvers;ty 1 Final Term Exam | Physics (1)
Industrial Education College 2007-2008 Time allowed: 3 hours !
Essential Science Department | I year |

ANSWER THE FOLLOWING QUESTIONS:
FIRST QUESTION
(a)  Define (i) each of the following: (1) Focal length of a mirror, (2) Periodic

time of a wave, (3) Frequency of a wave, (4) Absolute zero (Glha) jial).

(b)  The force an ideal spring exerts on (¢ 5 i%al) an object (awa) is given by Fx=—
kx, where x measures the displacement of the object from its equilibrium (x = 0)
positien. If k = 60 N/m, how much work is done (J sl J2i4) by this force as the
object moves from x=-0.20m tox=0?

SECCOND QUESTION
(a)  “Vater has an index of refraction (Uil Jalas) of 1.333. What is the speed of light

through it? (4D ¢ sl de yu) if the specd of light through air is 3x10° m/s.

(b) A monochromatic beam of light (sl ‘é.sl.si (34 £lad) has a wavelength of 589
nm in air. It passes through the giass (n=1.52) (&) Jalaay zla) B ,4) then
through clear plastic (wilid diudly) (n=1.63). What is the wavelength in plastic?

THIRD QUESTION
(a) Draw a diagram (khis au)) to show the total internal reflection

phenomena (133 ) Galsady) 5 alk) and the critical angle (Aa_all a4 3.

(b) An object is placed at a distance of 50 cm from a thin lens along the axis. If
a real image forms at a distance of 40 em from the lens, on the opposite
side from the object, what is the focal length of the lens?

FOURTH QUESTION
(a) A 5.0-kg object is pulled (pu> a5y along a horizontal (s4) surface at a

constant speed by a 15-N force acting 20° above the horizontal. How much
work is done by this force as the object moves 6.0 m?

(b) A thermometer registers (Jega s Om) a change in temperature of 100°F.

What change in temperature does this correspond to on the Kelvin scale?
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Beni-Suief University
First Year Final Exam
Academic Year 2007/2008
Second Term

Tuesday, 3" of June 2008

Faculty of Industrial Education
Subject: English Langnage
Time allowed: Three hours
Department of Basic Sciences
Total Mark 70 pt

Ay 6 gl ae g 4B ol udi B AlaW) cdala Al gale

Section I — Grammar (28 pt)
Choose the Correct Answer

1 Mothers always ...... their children. | 2 I...... to Cairo international airport
’ yesterday. :
(a) love (a) gone
(b) live (b) came
(c) loved (c) go
(d) loves (d) went
3 There are two types of natural 4 Whilel...... reading 2 book,
resources, material and ....... ssmeone knocked on the door.
(a) Energies. (a) were
(b)Energys. (b) am
(c)energy. (c) was
(d)Energy, (d) is
5 The engineer must solve problems 6 Civil engineers design and ......
as they ... ... major structares and facilities.
(a) Appeared. (a) constructed
(b) appearing. {b) construct
(c) appear. (c) constructing
(d) appears. (d) constructs
7 Transportation ...... divisions such 8 He was ... ... when the petrol fevel
as highway and traffic engineering. fell.
(a) has (a) drove
(b) have (b) driving
() is (c) drive
(d) are (d) drives
$ The price of petrolis...... every 10 Transportation ...... branch of civil
day. engineering.
(a) increase (a) is not a
{b) rise (b)isa
{c) rising (c) was a
(d) constant (d) is a rare
11 WhileI...... shower, the phone 12 'We have lived in Paris ...... three
rang. years.
(a) was taking (a) ago
(b) take (b) since
(c) taken (c) for
(d) took (d) of

]



1 13 Tomorrow, I ... to Beni-Su =7 14  Henery Ford is a great ....... T
(2) go {z) Inventiorn. |
{b) come (%) inventor.
c) {c) iavemtive,
s {d) investment. B
15 ik worseless carriage: . Ta | E6  The melor engine consisie of a
Frussia in the 1920's, % and @ s conReciza by a
{(z) appears cranirod,
{(b) appearing (a) cranlshaft
(¢) appeared (&) cramk
(&) appear © (¢) watch
17 There are several ...... of 18 The function of the scientist is to
transportation, water and tand | ...
transportation. (a) known.
(a) divisions (b) know.
(b) mode (c) invented.
(c) modes (d) invent.
{d) type
19 The electrical transformer cors 20 Wind ...... a source of energy.
of a primary and a ...... cotl. (a) is
(a) second {b) was
(b) secondary (c) was not
{c) third (d) is not
(d) thirdly
21 The carburetor ...... maore than one | 22 Faraday and Archimedes are both
fanction,. 1.
(a) have (a) engineers.
(b) having (b) scientist,
(c) has (c) Scientist,
(d) is N (d) scientists.
23 ... in the US for two years. 24 The abbreviation US stands for,
@woerk
(b) live (a) United States.
{c) lived (b} United states of America.
(d) worked {c) United State.
25 Mechanical engineers have ...... to 26 The principle of operation of the
the improvement of life conditions. electrical ...... is based on Faraday's
{a) contribute principle.
(b) contributed (a) generator
(c) contribution (B) carburetor
(d) contributes (¢) car
{d) motor
27 I did not study ...... ! failed in the 28 1 did not have an umbrella ...... I
exam. did not get wet.
(a) so (a) so
(b) because (b) because
L (c) but (c) but
(d) while {d) while




Section II — Comprehension

Civil engineers design and construct major structure and facilities-bridges, dams,
tunnels, tall buildings, factories, highways, airports, railroads, and so on. Over the course of
history they have made a particularly significant contributicn by creating sanitary systems to
reduce disease and improve the environment. The extent of knowledge required to solve
various types of civil engineering problems makes subspecialties inevitable. Transportation is
one such branch, and it has divisions such as highway, bridge, and traffic engineering. The
transportation engineer qualified in all phases is rare indeed. A second major subspecialty is
structural engineering, which concentrates on the design of bridges and large buildings. The
structural engineer may cooperate with an architect, who concentrates on the aesthetic and
functional aspects of design while the engineer is concerned with materials, methods of
construction, and other technical requirements. A third subspecialty is sanitary engineering,
concerned with water supply and sewerage systems for collecting and processing human
wastes. A fourth is construction. Some civil engineers manage the construction of other
engineering designs, concerning themselves with the scheduling and coordination of phases of
construction and inspection to assure adherence to specifications. Other subspecialties include
airport, dam, flood control, foundation, harbor, pipeline, and tunnel engineering.

Answer the following questions:

1. What is sanitary engineering? 3 pv
2. What are the other subspecialties of civil engineering? (3 pt)
3. What do civil engineers design? 3 pt)
4. What is the benefit of sanitary-systems? 3pt)
5. Find words in the passage that mean (5pt)

a) Make less
b) Make better
c) Carrying or moving

d) Job or work

e) Build
6. Put true (v) or false (X): ' (5 pt)
2) The term “civil engineering” emerged in the 18™ century to distinguish it from the
military engineering. ()
b) Transportation is not a branch of civil engineering. (o)
¢) Architects and structural engineers can work jointly. (S
d) Civil engineers have not contributed to the improvement of life conditions. (....)
e) Civil engineers design and construct ships, cars and aeroplanes. (oor)

v



7. Form nouns from the following verbs: (4 pt)

a) Promote e [a\} Transport ¢ oo
¢) Construct ..o d) Contribute e
8. Form verbs from the following nouns: 4 pt)

a) Concentration LS b) Inspectioy. -

¢) Improvement O d) Invention

Section ITI — Translation
= A = A 1anisiaion
L. Translate from English to Arabic € pt)

After the fall of Rome in the s® century land haulage generally declined bccguse the
highways suffered from inadequate maintenance. Such improvements, however as the hoxge
collar in the 18" century, the addition of springs to coaches in the middle of the 17" century,
new methods of road construction, and the if;t;Sduction of toll roads, or turn pokes, all
continued to ease and speed land travel. The first new mode of fransportation to challenge the
railroad was the motor vehicle, which was made possible by the invention of the internal

combustion engine.

2. Translate from Arabic to English (6 pt)

ot a8 eelicall el S of - 1 oW1 s 1 s, s o Aaala Celiall el LIS L U
P 4 Sala i) ARl LIKY 8 A ol g, Adla T} S PEUPEETRN N TPV TP T
RETENE NG WK
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Bani suef University First Year General Science
Industrial Education College Time: 3 hrs Final Exam
1. (a) state (,S¥) the first, second and third Newten laws of motion and express ther

(42 ) in mathematical forms (Al fima 2 ).

(b) in Figure (1), find the acceleration of the two blocks. If the rope attached (Saialt)
the mass (A) is cut (&2 ) as its height from the ground surface (h) =3 m, find the time
that the mass (&) will take to reach the ground(uaii! I J<i) if the final speed is 1 m/s.
(c) in Figure (2), find the tension in ropes A and B if the mass (m) = 50 kg.

o) G s

Eﬁi‘gure (1) Figure (2)

&G
5N %

(@) Defih; ( < ) the following terms: "

- Velocity - Angular Velocity " - Moment of Inertia
- Acceleration . . - Angular Acceleration
I
(b) A track whose tires have a raéjysof 60 cm travels at 20 m/s. Find the angular
velocity of its tires. | om
A3 .ﬁ,,_,,__%,
(c) Find the center of gravity of L — shaped steel S
plate shown in Figure (3) if the steel plate weights 5
is wicm?. Sol ,
} G
! ¥
e-dem 5l
Figure (3) < ~
(a) Define ( <is ) the following terms:
- Work - Power
- Kinetic Energy - Potential Energy
—_—

3 5 4-1/?;{ éu



b) 1400 kg car go from rest to a velocity of 70 km/hr in 9 s. Assuming negligible
friction ( Juay Jla) Ga i )-

1- Express its velocity in m/s.

2- Find its kinetic energy in J.

3- What is the output power of its engine in kw.

(c) An automobile engine develop 300 hp at 6600 rpm. How much torque is exerted on
the crankshaft?
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Bani-suif University first year first term exam.
Industrial Education Faculty Basic Mathematics 1
Basic Science Department January2008 Time allowed 3 hours

Answer all the following questions:
1. Let a=(24),b=(4-2),c = (~4,-8) and el =(2,}) prove that a L b and a //b then find the

angle between a and d also calculate Comp ; a

2. Find the different forms of the equatics: of the straight line passing through the points

AlL-3),B(2.4)

3. Determine which of the following equations represents

(1) real circle (2) point circle  (3) imaginary circle

I X +y -2x+8=0 I —x*—y" ~4x+6y-9=0
II. 4x* +4y* - 24x+16y +52=0 ;

© 4. 1) .Discuss the cuntinuz’}r ut x =3 fer the function f{)ﬁ)

9
_,~(x)=§7:; 3
|6 x=3

II. Determine this function is even, odd, or neither: f(x)=x* - 5x}'+ 4x-

5. Find the following limit: L

f _ 3 g2 .
[ tim YX¥4=2 I lim Fm2X £ 6x H
x—+0 x X2 x> _4
_ sin5 2 _
o tim 5% VI listi
0 sin7x xae xt L 2x+3

6. 1) Find the derivative of: f(x)= {5x—4x> X7 +6x)  and y= 1-sinx
COS X
H. Find the relative extreme for f(x)= -3x" +5x°
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